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HOW MANY SKITTLES?
Elementary Brain Teaser 
January 7, 20156
Name: ____________________________________ 
You are invited to a friend’s birthday party.  You are given a bag of candy as a party gift when you leave.  The bag consists of many different pieces of candy with Skittles, M&Ms, Gummie Bears, and Sour Patch Kids. Half of your pieces of candy are Skittles.  Half of the remaining pieces of candy pieces are M&Ms.  A fourth of the remaining pieces after the Skittles and M&Ms are Gummie Bears.  The remaining pieces of candy are Sour Patch Kids.  If there are 12 Sour Patch Kids in your bag, how many skittles are in your bag?
Explain your thinking. How do you know you are correct? 
Bonus Fun: 

( – (  = 2

( + ( = 12

( x ( = 56

What is the value of: 

a) ( + (
b) ( + ( + ( 

c) 4( + 5(
Which is greater?  

( - (      or    

( - (
